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Consigne = 50 mm
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Consigne = 200 mm
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Consigne = 300 mm
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Consigne = 350 mm
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Influence du gain

Gain = 0.1
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Gain = 0.15
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Gain =04
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Gain = 0.6
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Gain = 0.85

210~
200 ,/-_
190 /
180 /
170 /
160 /
150 /
140 /
130 '//
120
110 /
100
o //
80
70 /
. /
N
o—,—//
0 0025 005 0075 01 0125 015 0175 02 0225 025 0275 03 03,
B Temps (s)
Gain = 1
210-
200 ,/h S
190 /
180 //
170
160 /
150 /
140 /
130 //
120 /
110 /
100
a0
. 7
70
60
10 /
o—-//

1
0

B

0025 005 0075 01 0125 015 0175 02 0225 025 0275 03 0325 0

Temps (s)

Vincent RAFIK
Veersion 2020 / 2021

Page | 9

Séquence 2 : Modéliser un systeme
Conrbes - AxNum



PCSI - Sciences Industrielles de I'Ingénieur

Gain=1.5
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